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Dependent Resurvey.of a portion of the W. Bdy. of T. 13 N., R. 61 E.
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1 and 12, with brass cap mkd.

|
{
|

i from which

J‘;A juniper, 3 ins. in diam., bears S. 45° W., 212 1ks.-
| dist., marked T13N REOE S12 BT

gl ?A juniper, 2 ins. in diam., bears N. 39%° W., 106 lks.

dist., marked T13N RGOE S1 BT-

|
| £l
| iLand, slightly rolling. Soil, rocky, gravelly, clay .-

Undergrowth, medium growth shadscale and sage: and scantI

| growth of grass. Timber, scattering junipere.

%N. 0° 18' E., on a true line, on the E. Bdy. of sec. 1.
, ?Desc. N. slope 30 ft. over rolling land.
4.60'gDry wash, course E. Asc. SE. slopelSO £t,
7.90 |Top of spur, projects SE. Desc. NE. slope 50 ft.
| 25.00 §Dry wash, course SE, Asc. S. slope 50 ft.
| 32.80 éTop of spur, projects E. Desc. N. slope 20 ft.

v| 35,85 }A northing of 40,00 chs, from the closing cor. of secs.

| 6 and 7, hereinafter determined. Set an iron post, 3 ft.
1 - . . ; ;

| long, 1 in. in diam., 27 ins. in the ground, for the

| .

Z sec. cor. Br sec. 6, with brass cap mkd.
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V /A juniper, 3 ins. in diam., bears N. 813° E,, 179 1lks.
|

| N
| from which

|

| dist., marked + S6 BT No other bearing trees available.

|

At base of post, deposit a sandstone, 7 x 5 x 3 ins.,

|
|

E marked with cross (x)

| 40.57 |The proportionate point. Set an iron post, 3 ft. long, 1

i in, in diam., 24 ins. in the ground, to solid rock, and

' 10 ins. in a mound of stone, for the % sec. cor., for

|

) t’ | ] sec, 1, with brass cap mkd.
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